
 

 

Revo Carbon Front Intake Section VAG 2.0/1.8 TSI MQB 

RV581M200200 

 

onlyrevo.com 

 

Before starting, please 
ensure that the battery 
is disconnected and you 
have ensured the 
engine is cool. Engine 
temperatures can 
remain high for a 
substantial amount of 
time after use. 

Description  

Revo Carbon Front Section 1 

Bracket 1 

M6x15 Bolt 1 

M6 Nylock Nut 1 

M6 Washer 2 

Cable Tie 1 

 

Tools Size 

Ratchet  

Sockets 7, 10mm 

Torx Bits T25 

Hex Key 3mm 

Tension Clamp Pliers  

Side Cutters  

 



 

 

Revo Carbon Front Intake Section VAG 2.0/1.8 TSI MQB 

RV581M200200 

 

onlyrevo.com 

 
 

 
 

 
 

 

  
 

 
 
 
 
 
 
 

 
 

 
 
 

  
 
 
 

 
 

 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 

 
 

 
 

 
  

2

3

Pull off the vacuum pipe form the airbox, then pull up on the 
airbox to remove from the rubber mounts. 

Remove the 2 x screws holding the front section in place then 
unclip from the tabs and remove. 

Loosen the hose clamp on the turbo intake pipe and pull off. 1

4 Note: if your car is NOT a Golf R or S3 then move to step 7.  
Remove 2 x two self-tapping screws holding the coolant pipe 
on the back of the radiator. 

Using the supplied bracket, M6x15 bolt, M6 washers and M6 
nylock nut, bolt the pipe to the bracket. 

5



 

 

Revo Carbon Front Intake Section VAG 2.0/1.8 TSI MQB 

RV581M200200 

 

onlyrevo.com 

    
 

 
 

 
 

 

  
  

 
 
 
 
 
 
 

  
 

 
 
 
 
 
 
 

 
  
 

 
 
 
 
 
 

 
  
 

 
 
 
 
 
 

 

Using one of the screws removed from the coolant pipe secure 
the bracket to the left-hand side hole (facing the car) then 
using the cable tie provided as an extra precaution tie the 
coolant pipe to the aircon pipe as shown. Note: make sure that 
the coolant pipe is clear of the belts on the left of the engine! 

6

Install the new Revo carbon front section as shown and secure 
using the 2 x M5x15 bolts (supplied) into the existing holes 
where the OE screws were. 

7

Reinstall the airbox, as removed, pushing onto the rubber 
mounting grommets. 
 

8

Reinstall the turbo intake pipe. 
 
Test drive the vehicle to ensure there are no leaks/part 
interference during operation. Your installation is now 
complete! 

9


